1 — Which quadrant(s) can 6 be in if sec 8 < 0?

a. LIV

b. 1,1

c. 1V

d. 1l

2 — Which quadrant(s) can 8 be inif cot8 < 0 andsin 8 > 0?
a. |l

b. I, 1l

c. I,IV

d. I, IV

3 — Which of the following angles has a sin equalto 0 ?
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4
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4 — For which of the following values does the secant function not exist?

a. 0°

b. 45°
c. 90°
d. 150°

5 —Which of the following expressions can be used to find the value of ‘x’ in the right triangle?

1 3
a x° =tan"! =
10

A0

1

b. x° =sin~

1 X

C X° = cos~

20

1

d x° =tan”

6 — Which of the following expressions can be used to find the value of ‘x’ in the right triangle?

13
a X= cos(42°) 1
b. X = tan(42°)
13
13 Y
. X= sin(42°)

d. x=13sin(42°) .
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